*x A £ D B % 2/17 ~3/17 @

S5 & A

WX Z KFH 55 % REE fcALLSH GEFOER chE = R OF 4 L) &h 3.8
[EJD= =i >== W B ¥ Bnunsd &EdE 2.10 v )\ =" OB OE &G@&@HBL) KH] 3.10
v @K F OB OEF BLGDLY) HRE 2.13 T H R 12 B X GFW s 2. 8
o EEE 4k Z & @B@BL BR¥E 2.15 % FhE XK N B E(CED BEE 224
/) 1577/ vl ] RHFE (D) #KRK 221 v FFE E A BLLOF) A 3. 2
A ANTAY F O F ZEEVLY EE 3.5 v FiE FEOH R RGB she 3. 7
i fRIEKEET ) R = (Z3) =2 3.9 o EHFER O H OAF B GBI B 3. 8
FAHE £ = B OPKREOGLY) EBEA 2.17 r R FHEeELE E M E X O3s) TE 2. 6
17 HAJR b =& % (32 i 2.18 n  kFFE B A 1l (o) xR 2.22
7RI H B # X33 #\k 222 M OB == )l #& B Wwux BE 228
i BR 2 fh B Hmhun #F 223 H B BE £ F 8 X35 BL 217
o THERR N B O # I (kLY ZF— 3.1 VNN NIV N H B & (BA) B 3. 2
7o FEEAE B OE R & (E) o 3. 6 P O PREFE & F E BHOBA) ke 2.18
no BB B H Bz (33) FER 3. 7
B <P H
WES e E e = = =B o ooy X Lt ==E 96 2.23
W oE FES A )il = & 98 217 " FEK it B M1 F 71 2.23
1 81373 B oMK ¥ 94 2.17 " SHFR N E A = 100 3. 5
1 ME H & 3 B 82 2.20 1 il B B = v 96 3. 6
1 [Eap==9=S 7 K F BB 92 2.21 ¥ O FRNER &£ B E F 76 2.19
1 fizy==4 = Il B8 F 93 2.21 1 FFEEM = B BEF 92 221
1 F= A il # — 75 2.22 " FFEEM = X & 93 221
1" THELL m E R € 92 2.22 " FREIEE 5 5 # F 71 3. 2
1 [Eap==ES] * M &®#F BB 83 2.22 I I TSI S = @ M1 F 89 3. 6
" =P mE & th 88 2.23 " Fhfeders Hf B Y T 86 3.10
1 L N\ K X 100 2.24 M OB OEET = B HXT 83 2.27
1 [Enp==9=3 2 H @& F 83 2.25 1 (HEF H & IF *x 87 3. 2
" =l N ¥ 7ZvF 89 2.27 Vi YREF =R Ih 97 3.12
1 HFER IR & ©66 3.1 B T 2H w H 2 5 o2 2.24
1 [pib==z3 E B & & 49 3. 2 I 20 = M = A 97 3. 4
" Sl . B FHKF 87 3. 4 " m=JIl =T F £ & 67 3. 5
Z & W s 8§ F 68 3. 5 1 TTHE 5 R & B 78 3.12
1 A A BH =B 88 3. 7 " =L & H #8 F 91 3.17
Z A = B = /\ 90 3. 8 IV R JREgEK & B O/ 7 82 2.18
1 =H %= B 1 v 98 3.10 " INEEEY B B E E 8] 221
1 [Enp==9=3 = 2 B=HE 89 3.10 1" JI\AET B H= wm 92 221
A = W & J\ JL 86 2.18 " J\AHT 52Kk - 7 96 2.26
1 =58 E”RARX =EF b9 2.25 " BARA E )l 5 F 90 227
1 B ERET FEE = & 93 2.26 1 E= | A =’ — XA 95 3. 3
1 Je) 1A R B AExX 85 2.28 " IARARERE #1 & 5 J 90 3.17
1 b= m ¥ ¥4 ¥ 93 3. 4 P OPR=8 % B® 7 = 87 3. 6
1 ABIIIEET & Xk BEHFEXE 60 3. 5 I P B T & $ F 90 3. 8
1 JEEHEFH =5 F <] 87 3. 6 Vi P AISE & F B 3 76 3. 8
1 = ERRK = v 92 3. 8 " PIrE=35 = Kk B 82 3.10
1 B) BBt A B B W 83 3. 8 " BIBEs/GH = B ¥ v 9] 3.11
1 it = ®# £ — 84 3. 8 ” PERA a2 X F 88 3.14
{£F0E ) \WEET = OB O# S 83 2.16 7= 8 FIIZ XK & & 94 2.20
1 AR B M THK&E 68 2.18 I Zivia! At+F IE — 83 3. 9
7 JUREHAE] # H 1 F 69 2.23 " B Feil =4 a8 3.12
1" FIBATE B B R I 84 3.10 " &F0 A )l E W 87 3.15
= FF ohe K F #1 B 85 217

S THEE FHEIAS 26



